EARAROBEEIERT — 2 N— IBISH —F

20145128138 (+) 4E+1U3H

m3 EXZXUS #-7> 45% 3L (B (U8 BT ‘ (%f8) ‘ (] — |2 (&) 12000 B
[A&4£] 1 7 :21,000,000 § 2 3% :8,400,000 § 3 % :5,300,000 4 7% :3,200,000 5 & :2,100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FENTN HEEE :08. — . . EiEEE (ER
11111 TYLEZIAEY — % 7 o 1(0_8)3 8-8 33.9/106.3 | 11 :1;20) 7@%?#?]
LR T b F =T —K—F BURLTLy LY HET7—L4
= — o ne 46 | LB, 1:08.3 3-3 34.2106.1| 8 484 | RREARIA (i)
2|5/ 9| Y 77IRNIL 58.0 7 E) © ) 2<5av—2
LB I5TLYFo b B ISTI—2R [Il]=:Eve]
_5 47 | HEHEEER :08.3 12-11 33.8|106.4 | 2 498 | SARRRBL ()
3lgli5| EMA=5127 58.0 () (14 | TTEERT
Z:n7x By A 40— BRiAYS
S H o6 | BBER 1:08.3 13-13 | 33.5(106.6 | 9 464 | ALHEAN (FF)
algiry 774~ ¢ 8.0 (757) o) |HEEA
RN IINTI A~ BTUFA AR J—RENXTZI ALk
N N AEEE :08. - . . BKAFE (ER)
5 4| 7XITLAT o4 ot 1(;)&;;1 5-4 34.21105.0| 3 422;1 n?zmaz
A 2T BTy Rl e
FisEX :08. — . . HEIEER (EH
6 gl@amaurLx H 5 L 1(30/%5 2-2 34.6(103.9| 4 (4:3;) #;Bﬁ
R:v>NyB&>hTz B:T74+—F1—2R ESlite
. o4 | ZHE 1:08.6 5-4 34.4[102.8 | 1 506 | EFM#E— ()
71112 AX—=h~FDF > 56.0 (1/2) *+2) K
L5274 — B:hOEANLT 1 — (AYiorie]
P 55 st 7 | BRBE 1:08. 14-13 [ 33.6|102.2| 15 | 522 |fEEHE= (3X)
817114 Y4 IdF— 56.0 (5 E) () | ) EEA-2757
R:v>NyBg>h7x B:o1=—-V>d TAAAT7— L
9 5| @LF 4 KILTR—)b > 5 ?é;g@ 1(/(\)1;)7 1-1 34.8/101.8| 6 510 ;%;Eg* (=)
Qi A k=L BiUALLTHLR R S =y
N P 0 G. 7/7 :08. = . . SiEER (EH)
10 T ETETINGINY H o4 o 1(30/84)8 8-8 34.4(100.6 | 7 (4;2) il
A4 39k -—5— B.IALFAT A5
= o7 | AiEE 1:09.0 8-12 34.6| 98.5 | 14 | 464 |RHEERT (ER)
113 ®7LT 74— b 56.0 (1 1/4) 4g) | (B) *¥OvrIr—n
A2 :Dubawi F#:Perfect Promise Barree Stud
ez = # 5 | PEEX 1:09.1 8-8 34.7| 97.4 | 10 | 488 |EKEEA (BR)
e LA EXT A — 56,0 (3/4) Lo |HMBEF
RN TSN A= BRI —TTI paute]
S 5 B 5 | REES 1:09.2 5-7 35.0| 96.5 | 12 | 450 |#HBT (E®)
130012/ 7127V 54.0 (3/4) ) () REHS
AN T4 2F— BF—F—H—-ILZX FREFHUZ
- 5 4 5 | EHE 1:09.4 15-15 | 34.1| 94.4 | 13 | 466 |AZEERE (Xik)
148|16| VAT 7T 17 6.0 (1172 o | . vt
L:7RKvfv¥L—> B:LAVLsa B0
= o\, = . Hi%E A : — KBEL ((#
1 c BIEASEEAL [B] 4 8 o 1(.10/92.>5 16-16 | 33.4| 93.9 | 16 <5+164) ﬁg;g
gL FY ML BT —3 K ST UL <)
2 4 3 | AHEF 1:10.1 3-4 36.1| 8.4 | 5 532 | BERANME (S5im)
16| 5[10| ®@7ET 5.0 (3 1/2) “+2) HisHIS
R:77RUIT B:oALTLET HE ki
@ 71 L
) 45.5-34.4
NA>ZA L | 12.1-10.7-11.1-11.3-11.3-11.8
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x5,8) (9,10) (2,4,12) (1,3,6,7)15,13-14,16=11
43—F— | (+5,8)9(2,4,1012(1,6,7)15,3(14,13) 16=11
[ N3
B O 1 2,430 714K 1-9 4,400/ e E 1-5 1,380 JEHE 1-9-15 46,550
8 B 1 520M 1-15 3,380H B = 1-9 20,120 B 1-9-15 404,090
9 520M 9-15 2,220 B H 1-9 44,630M
15 250M

ABICOVWTRDTEEERROODE. TR LIV,




